Algebra2 Bellwork  Monday, May 2, 2016

1. In Right A4BC, £ B is the right angle. Given SinA = —% Find the following as ratios:

a. CosA b. TanC

2. Find the lengths of the two legs to the nearest hundredth.
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3. MNis an arc of a circle with center L. The length of N is 6z. Find the area of sector LMN.
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1. In Right A4BC, / B is the right angle. Given SinA = —% Find the following as ratios:

a. CosA ; b. TanC :
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3. MNis an arc of a circle with center L. The length of MN is 6z. Find the area of sector LMN.
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